Intermittent Continuous Risk Ratio Risk Ratio
Study or Subgroup Events Total Events Total Weight M-H, Fixed, 95% ClI M-H, Fixed, 95% ClI
4.1.1 Hot flushes
Calais da Silva 2009/2011 59 299 88 293 8.4% 0.66 [0.49,0.88] ——=——
Hussain 2013 620 681 641 686 60.5% 0.97 [0.94, 1.00] |
Langenhuijsen 2008/2011 49 97 57 96 5.4% 0.85 [0.66, 1.10] —
Mottet 2012 8 86 24 83 2.3% 0.32[0.15,0.68] +—
Salonen 2012/2013 129 274 141 280 13.2% 0.93[0.79, 1.11] e
Silva 2013 36 436 105 421 10.1% 0.33[0.23, 0.47] ¢
Subtotal (95% CI) 1873 1859 100.0% 0.86 [0.82, 0.90] ‘
Total events 901 1056
Heterogeneity: Chi? = 107.14, df = 5 (P < 0.00001); I = 95%
Test for overall effect: Z = 6.51 (P < 0.00001)
4.1.2 Gynaecomastia
Calais da Silva 2009/2011 37 299 57 293 11.0% 0.64[0.43,0.93] —=——
Hussain 2013 272 681 298 686 56.6% 0.92 [0.81, 1.04] —
Langenhuijsen 2008/2011 4 97 7 96 1.3% 0.57[0.17, 1.87] ¢
Salonen 2012/2013 5 274 3 280 0.6% 1.70[0.41, 7.06] ¢ >
Silva 2013 60 436 157 421 30.5% 0.37[0.28, 0.48] ¢
Subtotal (95% Cl) 1787 1776 100.0% 0.72 [0.65, 0.80] - =
Total events 378 522
Heterogeneity: Chi? = 40.84, df = 4 (P < 0.00001); I = 90%
Test for overall effect: Z = 5.94 (P < 0.00001)
4.1.3 Headache
Calais da Silva 2009/2011 22 299 36 293 15.1% 0.60[0.36,0.99] ¢—=——
Hussain 2013 136 681 130 686 53.9% 1.05 [0.85, 1.31] —i—
Mottet 2012 3 86 6 83 2.5% 0.48[0.12, 1.87] ¢
Silva 2013 35 436 67 421  28.4% 0.50[0.34,0.74] +¥——
Subtotal (95% Cl) 1502 1483 100.0% 0.81 [0.68, 0.97] -
Total events 196 239
Heterogeneity: Chi? = 13.39, df = 3 (P = 0.004); I*> = 78%
Test for overall effect: Z = 2.32 (P = 0.02)
4.1.4 Skin complaints or rash
Calais da Silva 2009/2011 8 299 20 293  25.5% 0.39[0.18,0.88] ——
Hussain 2013 54 681 52 686 65.5% 1.05 [0.73, 1.51] —i—
Silva 2013 3 436 7 421 9.0% 0.41[0.11, 1.59] ¢
Subtotal (95% CI) 1416 1400 100.0% 0.82 [0.60, 1.13] ‘»
Total events 65 79
Heterogeneity: Chi? = 5.93, df = 2 (P = 0.05); I> = 66%
Test for overall effect: Z = 1.21 (P = 0.23)
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Favor intermittent Favor continuous
Test for subgroup differences: Chi? = 8.23, df = 3 (P = 0.04), 1> = 63.5%



